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Section—A 

Note : Answer any two questions from this 

Section in about 700 words each. 2×20=40 

1. Describe the key channels underlying the 

transmission of financial activities in an 

economy. What are the roles of various 

financial intermediaries in the transmission 

process ?   20 
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2. (a) What are call and put options ? When 

can the call option and put option be 

exercised ? 8 

(b) Raj is willing to buy a share of X Pvt. 

Ltd. After 3 months, its probable prices 

are ` 5, ` 10, ` 15, ` 20, ` 25, ` 30. Raj 

purchases a call option from a dealer 

who gives the exercise price of ` 13 and 

option premium of ` 12. 8 

(i) Suggest when to exercise the call 

option. 

(ii) Sketch the Net Payoff diagram 

from the point of view of Raj and 

the derivative dealer. 

(c) What do you understand by Put-Call 

Parity ?  4 
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3. How does the Capital Asset Pricing Model 

(CAPM) explain the relationship between 

risk and return ? Discuss some of its 

applications. What are theoretical and 

practical limitations of this model ? 20 

4. (a) Explain the different market anomalies 

observed in the market. 8 

(b) Using the concepts of behavioural 

finance, explain the following : 12 

(i) Equity premium puzzle 

(ii) Volatility puzzle  

(iii) Predictability puzzle  

Section—B 

Note : Answer any five questions from this 

Section in about 400 words each. 5×12=60  

5. (a) Describe some characteristics of bonds. 

4 

(b) Differentiate between Yield to Call 

(YTC) and Yield to Maturity (YTM). 4 



 [ 4 ] MEC–110 

C–2576/MEC–110 

(c) Using approximation formula, calculate 

the yield to maturity when coupon rate 

is 7%, face value is ` 500, price of bond 

is ` 350 and maturity period is 10 years. 

4 

6. (a) What is the role of the reserve 

requirement in the money multiplier 

process ? 6 

(b) How does the money multiplier process 

contribute to the expansion of broader 

money supply ? 6 

7. Describe the key features of Markowitz’s 

Portfolio Theory. Discuss some of its 

limitations.  12 

8. Differentiate between the following : 6+6 

(a) Certificate of Deposits (CDs) and 

Commercial papers 

(b) Primary and Secondary Securities 
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9. How does portfolio management optimize 

risk and return ? What are the different 

stages involved in constructing and 

maintaining an effective investment 

portfolio ?  12 

10. Why is there a need for regulation of 

financial institutions ? Briefly discuss about 

some of the key financial regulatory bodies 

in India.   12 

11. Critically examine Arbitrage Pricing Theory 

(APT).   12 
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 MEC–110 

dyk fu".kkr (,e- ,-) vFkZ'kkL= 

(,e-,-bZ-lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&110 % eqnzk] foÙkh; laLFkku vkSj cktkj 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

 

Hkkxµd 

uksV % bl Hkkx esa fdUgha nks iz'uksa ds mÙkj fyf[k,A 'kCn&lhek 

700 izR;sdA 2×20=40 

1- vFkZO;oLFkk esa foÙkh; fØ;kdykiksa ds lapyu ds eq[; 

ekxks± dk o.kZu dhft,A bl lapyu esa fofHkék foÙkh; 

e/;LFkksa dh D;k Hkwfedk,¡ jgrh gSa \ 20 



 [ 7 ] MEC–110 

C–2576/MEC–110 P. T. O. 

2- (v) dkWy (ek¡x) vkSj iqV (is'k) fodYi D;k gksrs gSa \ 

bu dkWy vkSj iqV fodYikas ds iz;ksx dc fd, tk 

ldrs gSa \  8 

(c) jkt X izkbosV fyfeVsM dk ,d va'k [kjhnuk  

pkgrk gSA rhu eghus ckn ml 'ks;j ds laHkkfor nke 

` 5, ` 10, ` 15, ` 20, ` 25 vkSj ` 30 gSaA  

jkt fdlh O;kikjh ls ,d dkWy fodYi  

[kjhnrk gS vkSj mls iz;ksx djus dh dher ` 13  

rFkk fodYi vf/kewY; (izhfe;e) ` 12 pqdk nsrk 

gSA   8 

(i) ijke'kZ nhft, fd mls dkWy fodYi dk iz;ksx 

dc djuk pkfg,A 

(ii) jkt rFkk ml O;qRiék foØsrk dh n`f"V;ksa ls 

fuoy izfr izkfIr fp= vafdr dhft,A 

(l) iqV&dkWy lekurk ls vki D;k le>rs gSa \ 4 
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3- iw¡th ifjlEifÙk ewY; fu/kkZj.k izfreku (CAPM) tksf[k+e 

vkSj izfrizkfIr ds chp lEcU/k dh O;k[;k fdl izdkj 

djrk gS \ blds dqN vuqiz;ksxksa dh ppkZ dhft,A bl 

izfreku dh lS¼kafrd ,oa O;kogkfjd =qfV;k¡ Hkh crkb,A 

20 

4- (v) cktkj esa fn[kkbZ nsus okyh folaxfr;k¡ le>kb,A 

8 

(c) O;kogkfjd foÙk dh vo/kkj.kkvksa dk iz;ksx djrs gq, 

fuEufyf[kr dh O;k[;k dhft, % 12 

(i) lerk&vf/kHkkj igsyh 

(ii) vfLFkjrk igsyh 

(iii) iwokZdyuh;rk igsyh 

Hkkxµ[k 

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj fyf[k,A 'kCn&lhek  

400 izR;sdA 5×12=60 

5- (v) ckW.Mksa dh dqN fo'ks"krk,¡ crkb,A 4 
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(c) dkWy ls ;hYM rFkk ifjiDork ls ;hYM ds chp dk 

Hksn Li"V dhft,A 4 

(l) lfUudVu lw= dk iz;ksx dj ml ckW.M dh 

ifjiDork izfrizkfIr dk vkdyu dhft, ftldh 

dwiu nj 7%, vafdr dher ` 500, cktkj dher  

` 350 gks rFkk ifjiDork vof/k 10 o"kZ gksA 4 

6- (v) ekSfnzd xq.kd izfØ;k esa vkjf{kr fuf/k dh 

vko';drk dh D;k Hkwfedk gksrh gS \ 6 

(c) ekSfnzd xq.kd O;kid eqnzk vkiwfrZ ds izlkj esa fdl 

izdkj ;ksxnku djrk gS \ 6 

7- ekdksZfoV~t ds iksVZQksfy;ks fl¼kar dh eq[; fo'ks"krkvksa 

dk o.kZu dhft,A bldh dqN lhek,¡ Hkh crkb,A 12 

8- fuEufyf[kr esa Hksn Li"V dhft, % 6+6 

(v) tek izek.k&i= vkSj O;kikfjd i=d  

(c) izkFkfed ,oa f}rh;d izfrHkwfr;k¡ 
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9- iksVZQksfy;ks izca/ku fdl izdkj tksf[ke vkSj izfrizkfIr dks 

b"Vre djrk gS \ ,d izHkkoh fuos'k iksVZQksfy;ks lap; 

dh jpuk vkSj mls cuk, j[kus esa dkSu&ls fofHkék pj.k gksrs 

gSa \      12 

10- foÙkh; laLFkkuksa ds fofu;eu dh t:jr D;ksa gksrh gS \ 

Hkkjr esa fo|eku foÙkh; fu;eu laLFkkuksa ds fo"k; esa 

laf{kIr ppkZ dhft,A 12 

11- vUriZ.ku ewY; fu/kkZj.k fl¼kar (APT) dh leh{kk 

dhft,A   12 

× × × × × 

 

 

 

 

 

 

 

 


